C B
e L
- _--_-_-_-_-_-_-4:-_-_-_-_-__ i
= ==
. | 4
\|J
AbOydyhry b
BB A B C D b -k
TDS250 954 854 100 184 M8X150-2
TDS300 1124 1024 100 220 M8X150-3 1 ¥
TDS350 1315 1215 100 254 M8X150-3
TDS400 1443 1343 100 290 M8X150-3
TDS450 850 750 100 326 M8X150-8
TDS500 944 844 100 362 M8X150-10
TDS600 1124 1024 100 432 M8X150-10 214
TDS700 1296 1196 100 502 M8X150-10
TDS800 1428 1328 100 573 M8X150-10
TDS900 1605 1505 100 645 M8X150-10
TDS1000 1816 1716 100 720 M8X150-12
\ (mm>
XHREBBRECERV ST,
XA by A-ONBRUHE. BRELERV T,
Xk, tREEHEHREOE. TEEKZEET 3H4AHV T, (H24, 6)

AbOvIyhry F (TDS250~1000)

T ¥ kRN %t




